normalized X2

107gg oot

1072

Entrief
Mean
Std D¢

[ normalized x? probability |

e ST T

0.08
0.07
0.06

ol
T
@
. - e . . . . . . .
0.5 2 isspie me | H H H H H
0 2 4 6 8 10 12 14 16 18 20
X2
— _mKFIT_TToriginal
mm DOM_mkFit_TT_newStudy
— DQM_mKFit_TT_newStudyp4
s DQM_mKFit_TT_newStudyh
s DOM_mkFit_TT _newStudyhp4
5 — 5
< F S
2 as5f N 4E-
=~ F - F
foll 3 2 -
v E o E
3.55—' ° 25—-
3F Voo
2,56 of--
2 - 1 i
1.5H] -
1;— _3;_.
0.50 -4f-
o O o 5
=1 1.4 =
X ogoF ox
B | 0 ¢ D
1=
°83 BT a0 1 3
TP n (PCA to beamline)
A5 A n
2 45 2 18F-
<4 % 1.6f-
\Y \Y F
3.5 AF-
3| 1.2F
2.5] -
2 0.8F-
1.5 0.6F
1 0.4F
0.5] 0.2F
o 0 o GF
T 12 ©
@ od
j 0sfF
*o 10° — 102 10
AR(track, jet?
g F
A 4AF
- E
2 3F
L E
o F
o 2F
v E
_1;—
_2;
_4;—
o “5F f
g 3fF -:
4 1
2F- B R
i L
5]

-
1, T
2T
-




	Contents
	Page 1


